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FUEInEEEE T {me/2) 0. 03 0. 67 0.01 ~— -

= TRREEERRE R {mz/0) 0, 005 0.012 0. 004 — s

G ReAEEE R {me/0) 1. 04 0.26 0.88 — ——

# | M vRESR (me/0) 0,17 0.72 0. 21 — —

b | HiknngesH (/) 0.12 0. 04 0.19 — —

Eg Y (mg/2) 0. 047 0. 056 0. 048 — -—
AVMIVERERYY  (me/0) 0. 032 0. 041 0. 042 - -—
VA b VESTRY Y, (me/R) 0,016 0,028 0. 042 — —
LIERE (meg/0) L1 0.9 — — —
e EEEERE  (me/0) | 0.3 0.5 — — —
SR {me/B) 2.9 0.6 —— — —
BiERE (mg/D) 12,7 111 12,3 o ———

BAE | —mEK (f8/e) 1,600 510 S - -
B | KR OPi/1008) | 70 2 540 - -
Z 17 4 Na (me/8) 1.5 0.2 1.6 — =

O] v# (mg/0) 0. 001 0,112 — — -




FEAkmaMKkERNERRR

K OR|EB E )| AEHR & F ) kW
S BAEAH) 4pap 6H 48 8460 | 10H8H | 12A3RA
X 173 i) 2 It 53] i
7K W5 ) (B @ 43) 11:56 11:45 12:00 11:56 14:20
y: fir (m) 0.77 0.76 0.73 0.50 0.42
z | B (f/sec) 0.81 0.54 0.93 3.36 1.83
oK i B Foo B b i A e
e ok w (m) 0.25 0.16 0.32 0.26 0.48
a | B AKOK B (m) 0.05 0.03 0.06 0.05 0.10
= iR (C) 7.5 23.0 26.0 12.5 7.0
E ok 5 | 110 14.0 20.0 10.0 6.0
5 | o+ # WY Yk aE 535 B A BE 4%
R (Hy i) bl i £ R U i
Hls | & em) | 30.08LE | 8000l | 3008k | S00BiE|  80.0BLE
FI3 1) 15 16 17 15 17
pH (R KIRC) 7.6(18) 7.6(20) 7.5(18) 7.3(20) 7.6(12)
M | PH4.3 MR  (CaCoyng/4)
PHG.0 BEEE (CaCoumg/f)
PH8.4 EEFE  (CaCoyng/f) 2,77 2.21 3.02 2.36 1.66
PH6.07MiI B (CaCogmg/8) 17.8 19.8 18.7 19.0 20.9
M | PH8.4TMIIE  (CaCogmg/8)
SO (mg/8) 5.95 5.11 5.22 4.72 3.69
C1l- (mg/4) 6.90 6.54 5.71 4.48 4,09
T—Fe (mg/ @) 0.10 0.06 0.21 0.09 0.20
KAl (mg/€) 0.13 0.04 0.41 0.14 0.27
ALY (mg/ 4 0.03 0.02 0.04 0.02 0.03
w|SS (mg/ £) 1 4 7 7 5
& i3 (F8) 1.0 1.1 1.5 1.4 1.0
Vi (ms/m) 116 116 10.7 9.5 9.6
CODy, (mg/8) 1.2 1.3 2.1 1.8 1.9
. BOD (mg/€) 0.6 0.6 0.4 0.4 0.7
| T—N {mg/ ) 3.10 2.33 2.08 1,58 1.60
* NO~N (mg/8) 0.06 0.01 0.06 0.02 0.02
# | NO, N (me/8) 0.007 0.007 0.013 0.002 0.005
it | NO,N (mg/8) 2.65 0.16 1.94 1.45 1.39
B K—N (mg/ &) 0.29 2.37 0.29 0.15 0.17
| T—P (mg/8) 0.063 0.060 0.068 0.039 0.041
I PO,—P (mg/8) 0.030 0.043 0.047 0.038 0.034
D—PO—P (mg/4) 0.026 0.043 0.045 0.033 0.023
Z|po (me/ ) _—
% KBEREE  MPNV/100m) _—

#* 1ms/s=10u s/cm




Bk S KEBREHRESR

K OR|E F)| EAEMR S F M
- BAUCHA | 44ap | 6H4R | 8B6H | 108878 | 12A3H
x 15 i} 5 i == i
£ AR w5 4 (W - 27) 11:00 10:45 10:50 10:52 13:26
7K Iiva {m) 8.71 8.53 8.56 8.80 8.69
3, i poiy (rr/sec) 0.30 0.08 0.06 0.17 0.07
K EE TN oL b/ LT Bt O
& ok B (m) 0.50 0.11 0.20 0.34 0.25
) | B A ACER (m) 0.10 0.02 0.04 0.07 0.05
= iR ) 8.0 21.0 26.0 12.0 5.0
E ok " (C) 6.0 13.0 18.0 12.0 7.0.
g | o &l W EE 837 2,775 13 WA AIE EAE
il < (#ilEr) #7 R e B m R e B It B
Hle 1 % m | 30.08iE | 8000k | 3008 E|  30081E | 80.08LE
yi 2, 16 16 16 15 15
pH (Al ERKIRTC) 7.1(19) 7.6(21) 7.5(19) 7.121 7.5(12)
Wi | PH4.3 EEE  (CaCoymg/8) -
PH6.0 BRJE  (CaCogmg/€)
PHS.4 MY (CaCogmg/#) 2.06 2.06 2.87 1.81 1.76
PHB.07iHYIBE  (CaCoymg/4) 5.08 15.2 16.7 13.5 16.0
PE | PHR. AT (CaCoymg/8)
SOf (mg/€) 451 2.21 2.95 5.68 2.40
cC1- (mg/4) 1.26 1.99 1.95 2.14 1.99
T—Fe (me/8) 0.17 0.00 0.13 0.14 0.01
KAl (mg/8) 0.25 0.02 0.28 0.09 0.02
Al (mg/4) 0.05 0.01 0.01 0.01 0.04
Bm|Ss (ng/2) 6 1 4 1 1554
¥ B (FD) 1.2 0.2 1.0 0.8 0.0
KlwEm & = {ms/m) 3.9 6.1 6.7 6.6 6.4
CODwma (ma/ &) 1.7 0.9 1.6 1.4 0.8
& BOD (mg/8) 0.1 0.4 0.4 0.4 0.2
| T—N (mg/4) 0.73 0.43 0.64 0.78 0.69
* NO—N (mg/ 4} 0.06 0.00 0.04 0.01 0.03
# | NO,~N (mg/€) 0.002 0.000 0.004 0.000 0.002
it | NO-N (ng/8) 0.53 0.40 0.54 0.69 0.53
. K—N (me/8) 0.15 0.09 0.18 0.12 0.09
T—P (ma/4) 0.031 0.042 0.053 0.021 0.028
& PO~P (mg/8) 0.008 0.034 0.036 0.021 0,028
D—PO,—P (mg/8) 0.008 0.033 0.034 0.018 0.028
£ 1 pO ' (ng/8)
% KBEFES  ORY10008) Ce—

% Ims/s=10p s/cn




EAk R KEAEHRE

K OR|EBE EZ N AEMR I [ /N
S BAFAR| 4pap | 6Ran | 8B6R | 10487 | 12A3H
PR 1 L} &® i) 5] 3
AR R (8 @ 4) 12:36 12:10 12:40 12:18 14:36
7K iz {m) 0.14 0.11 0.12 —0.01 —0.07
z | O = {m/sec) 0.23 0.16 0.21 0.30 0.18
ok AL & oD oD S oo oo
s kB (m) 0.27 0.23 0.28 0.25 0.18
| B A KR (m) 0.05 0.05 0.06 0.05 0.04
o iR (C) 8.0 22.0 24.0 11.0 6.0
|k iR (C) 9.0 13.0 17.0 10.0 5.0
| % & b2 SR WA BE PR AE b2 S e
82 = () m R i R ® R m R i
Rlz 8 & (m) | 80.0BLE | 80.0mlE|  s00mil| 800BLE | 30.08E
K i) 16 16 21 16 17
pH  (HEERIETC) 7.5(13) 7.5(22) 7.4(20) 7.1(22) 7.5(14)
iz | PH4.3 BRIE (CaCogmg/#) -
PH6.0 B HE  {(CaCoymg/4)
PH8.4 B (CaCosmg/f) 1.51 2.41 3.12 1.66 1.96
PH6.07M1I 5 (CaCoqmg/4) 13.3 14.3 13.0 15.1 14.2
i | PHB.47ME  (CaCogmg/8)
S04 (mg/8) - 9.57 9.19 9.72 12.1 8.85
c1- (mg/8) 5.96 5.84 5.56 7.01 5.66
T—Fe (mg/4) 0.20 0.04 0.65 0.21 0.06
KAl {mg/4) 0.46 0.04 1.25 0.55 0.05
ALY (me/4) 0.06 0.02 0,07 0.03 0.06
mwmlss (mg/8) 9 2 27 10 1T
7] I3 (B) 14 0.2 5.b 2.9 0.3
AK|wE & = (ms/m) 11.2 11.1 11.2 12.7 10.9
CODy, (mg/8) 3.2 1.6 4.2 2.3 0.9
- BOD (mg/ &) 0.4 0.5 0.2 0.4 0.3
| T—N (mg/£) 3.44 2.79 3.11 4.28 3.11
w NO—N (mg/€) 0.05 0.00 0.03 0.00 0.02
#{ NO, N (mg/4) 0.010 0.006 0.008 0.001 0.007
| NO,N (mg/8) 3.21 2.66 2.87 3.85 2.90
g | KN weg/®) | 0.18 0.12 0.33 0.02 0.15
| T—P (mg/8) 0.067 0.030 0.083 0.046 0.012
= PO,—P (mg/8) 0.028 0.022 0.053 0.031 0.012
D—PO~P - (mg/¢) 0.018 0.022 0.032 0.027 0.012
£ Do (ng/8) _
% RIBHEBLE MPV10008) R

# Ims/5==10 pz s/cm




EAkmaEMAKEAECHERR

K R|E E )| AEHR + = M
- BAFABY 4pgap | 6H4B | 8B6H | 10A8A | 12H3H
x 173 i & T 5] 3
B 7K I A (B : 45) 14:25 13:55 1450 14:10 15:15
Ko (m) 3.24 3.24 2.99 3.33 3.21
B i B (1m/sec) 1.42 1.62 0.14 1.18 0.88
ok B woo o oo Feo o oo
| e x (m) 0.47 0.72 0.30 0.59 0.60
o Bk KB (m) 0.09 0.14 0.06 0.12 0.12
= & °c} 11.0 17.0 29.0 11.0 7.0
P o] o)l 100 13.0 21.0 11.0 7.0
AL # £, 35 B WA aE maEY | REAE | RAEY
B e (H3hF) m R " R Fii fE R m R
Fls w (my | 3000t | s008LE | 3008k | s00mb | 3008k
K 1= 16 16 16 15 17
pH (IR C) 7.5(15) 7.6(22) 7.5(22) 7.3(23) 7.5(14)
i | PH4.3 ®BEE  (CaCogng/d)
PH6.0 fifFE  (CaCoymg/8)
PH8.4 PEJE (CaCoymg/8) 1.46 2.01 2.82 1.21 1.931
PHE.07TMIVEE  (CaCogmg/4) 10.9 14.7 16.6 16.4 15.5
% | PHB.47mIEE  (CaCoyme/f)
SO (mg/8) 2.57 3.19 6.07 4.89 3.20
Ccl1- (mg/8) 2.08 3.06 4.07 3.85 3.36
T—TFe (mg/€) 0,12 0.13 0.17 0.07 0.07
A | Al (mg/2) 0.23 0.16 0.29 0.05 0.07
ALY (mg/8) 0.04 0.03 0.03 0.00 0.02
mlss (mg/ ) 5 16 4 2 1
) - (E) 0.9 3.3 1.3 0.8 0.5
K|lE B (ms/m) 5.7 7.4 9.6 8.1 76
CODy, (mg/£) 1.8 2.5 1.8 2.6 1.0
= BOD (ng/ ) 0.6 0.8 0.4 0.2 0.7
I T—N (mg/8) 1.00 1.41 1.82 1.51 1.37
* NO—N (mg/8) 0.05 0.00 0.03 0.01 0.02
# | NO—N {mg/8) 0.004 0.003 0.007 0.000 0.004
{k | NO,~N (mg/£) 0.78 1.21 1.74 1.43 1.30
- K—N (mg/ &) 0.17 0.28 0.24 0.09 0.13
T—P (mg/8) 0.044 0.049 0.041 0.033 0.018
1 [po—p (ng/8) 0.017 0.020 0.030 0.031 0.017
D—PO P (mg/8) 0.016 0.015 0.030 0.031 0.016
£ | Do (mg/8) I
% KIBH B MAY/10008) S

* Ims/s=10pu s/cm




ok Mo Bl Kk BBl E SR

K OR|IE Z )| ABEBMR 7 & JI
— BAFAR| 4pam | 6Ham | 8B6R | 10H8H | 12/13A
PN 16 i 7 W S i
B 7K B Z (W - 47) 15:15 14:50 15:45 15:00 15:57

i fir (m} 0.13 0.10 0.12 0.12 0.12
m | & (exf/sec) 1.08 0.61 1.45 2.10 0.87

oKL E b RTIR B oo e S )
Wle ko ow (m) 0.60 0.56 0.55 0.68 0.72
a | & & A& B (m) 0.12 0.11 0.11 0.14 0.14

= iR ) 10.5 18.0 26.0 13.0 4.0
)k i coy | 110 15.0 20.0 12.0 5.0
® | 2 # AR WA AE P miE ok eE FEN

= (Y1) e 8 pii w5 #' R R
Hlg o & (o) |  30.08LL | 380.08Lk | 8008l | 3008k | 30080k

Pls =) 18 17 20 17 16

pH (R TEREARRT) 8.1(15) 8.0(22) 7.8(23) 7.7(20) 7.9(15)
Bt | PH4.3 BB (CaCogmg/#)

PH6.0 BERE  (CaCong/d)

PH8.4 FEE  (CaComg/#) 1.51 2.31 3.32 0.85 2.16

PHG.07W)E  (CaCogme/4) 39.3 "38.6 33.2 40.5 39.1
i | PH8.47MIE  (CaCogmg/4) e

S0 (mg/) | ———

cC1l- (mg/ &)

T—TFe (mg/8) 0.41 0.19 1.13 0.57 0.18
AK|Al (mg/4) 0.23 0.04 1.29 0.48 0.06

ALY {mg/8) 0.06 0.02 0.08 0.06 0.03
w|SsS (mg/ &) 11 6 30 16 2

& 153 (E) L7 15 5.7 4.9 0.6
KlwE & & (ms/m) 30.0 31.2 28.1 28.1 30.9

CODy, (mg/8) 2.9 2.9 4.4 1.2 1.4
- BOD (ng/ &) 0.8 0.7 0.4 0.4 0.4
| T—N (mg/8) 1.37 1.19 1.60 1.96 1.53
e NO—N (mg/8) 0.05 0.00 0.04 0.01 0.02
# | NON (mg/4) 0.006 0.003 0.011 0.001 0.004
i | NO~N (mg/ ) 0.93 1.00 1.40 1.72 1.83
g K—N (mg/4) 0.26 0.33 0.39 0.17 0.14

T—P (mg/8) 0.053 0.041 0.095 0.054 0.017

PO—P (mg/8) 0.020 . 0.021 0.048 0.051 0.017

D—PO,—P (mg/4) 0.020 0.021 0.048 0.041 0.017
£1po (mg/8)
% KIBWB S V10 | 31 240 54000 460 920

% 1ms/s5=10p s/cm
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